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Llepumerp mpsiMOyroJILHAKA



llepuMeTp — 3T0 CyMMa ANMH BCeX
CTOpPOH.

[1pOTMBONONIOXHbBIE CTOPOHbI
NPAMOYroJibHUKA paBHbl.



FeoMeTpuUyecKkmn
MaTepuan:

= Haveptute NpsAMOYrosibHUK CO CTOPOHaAMM 5 CM N 3 CM.
= Hanaute nepuMeTp nNpsiIMOYrosibHUKA.

5 CcM

_l_

3 CM
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34+54+34+5= | 16  c™M
3:24+52= 16 com
5 CM
3 CM
(3+5)
(3+5)2= 16 | c™m
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3 CM

P=4+3+4+3= 14 cm

P=42+4+3"2= 14 cm

P=(4+3)"2= 14 cm
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llepuMeTp — 3T0 CyMMa ANMH BCeX
CTOpPOH.

[1pOTMBONONIOXHbBIE CTOPOHbI
NPAMOYroJibHUKA paBHbl.









